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Math 70: 6.7 Application Problems with Factoring Process

Set up and solve.

1)

3)

4)

5)

6)

7)

8)

The product of two consecutive integers is 156. Find the integers.

ke,igH’ :
The area of a triangle is 320 square inches. The lsit is 12 inches longer than it is wide. What are the
dimensions of the teef?

driangle?

Avaluable sports card is 4 cm wide and 5 cm long. The card is to be sandwiched by two pieces of
Lucite, each of which is 5.5 times the aref the card. Determine the dimensions of the Lucite that will
ensure a uniform border around the card.

The diagonal of a rectangle is 50 feet. The length is 10 feet longei' than the width. What are the
dimensions of the rectangle?

The force in newtons needed to stretch a certain spring x centimeters from its resting position is given
by the polynomial function f(x) =3x* where 3 is the spring constant. If a force of 8 newtons is
applied, how far will the spring be stretched? . 4

A certain rectangle’s length is 5 feet longer than its width. If the area of the rectangle is 66 square feet,
find its dimensions. :

Find the length of the shorter leg of a right triangle if the longer leg is 24 meters and the hypotenuse is 6
more than twice the shorter leg.

: Q/ .
A window washer accidentally drops a bucket from‘nﬁtop of a 64-foot building. The height h of the
bucket after t seconds is given by A(7) = ~161* +64. When will the bucket hit the ground?
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Math 70 EXAM #2 Topics List

_—Math 70-33: Exam #2 Wednesday, 14 March, 1:20 PM - 2:25 PM
ath 70-34: Exam #2 Tuesday, 13 March, 1:20 PM ~ 2:25 PM

Optional Exam 2 Review session / office hours for any Math 70 student in either section:
Friday, March 9, 3:30 PM - 10AM - 12 noon, room 342.

Your book: Bittinger
10 4.1,4.2,4.3 &9.3-1st
11 9.3-2nd & 9.1
12 44
13 {no lesson - day of exam 1)
14 9.2 & 4.5-1st
15 4.5-2nd, 5.5, & 5.6*
16 : 58
17 5.9,6.1&6.2
18 6.3,6.486.5
19 6.6*
20 6.7

If you are repeating Math 70 or study with students in other sections of Math 70, it may be helpful to know
how the other textbook, Martin-Gay, aligns with your textbook, Bittinger.
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Math 70; Selected Review Questions for Exam #2

Solve the system of equations using matrices. Write the input and output matrices, then write the solution
as an ordered pair or ordered triple, the empty set, or set notation showing an infinite number of solutions.

x+y=3

1) 2y=10
3x+2y—-3z=1
2x+y=-2

2) q2x—-z=3
y+z==5
x+2y-z=95

3) 6x+y+z=7
2x+4y-2z=5
Sx+y=-5

4) 5x—z=5
y+z=-10

Solve the equation graphically and round the solution to the nearest hundredth, if necessary. Identify
which method you used and the equation(s) you graphed.

5) 1.1x+4.1=05x+0.68

i 1
6) L(6x—9)=6~x——|+6
) 56x-9) (3 2)

7) 0.06(4x—-3)=0.24(x+7)-1.86
8) 3x+/11=6x-+2

9) 8mx+1=2.7(x+7)

Solve the problem.

10) ABC Phone Company charges $24 per month plus 8 cents per minute of long distance. XYZ Phone
Company charges $18 per month plus 12 cents per minute of long distance. If x represents the number
of minutes, then the month cost for service can be modeled by the equations

C, =24+0.08x
C,=18+0.12x

Which phone company’s cost is lower if 30 minutes of long distance are used? How many minutes of
long distance would make the two companies’ costs the same?

11) Megan is considering a job in sales. She is offered a monthly salary of $1500 plus 4% commission with
one company or a 9% commission-only position. How much must she sell per month, in order that the
two plans give her the same gross pay?

12) Carole has a 20% alcohol solution and a 80% alcohol solution. Find how many liters of each solution she
should mix to make 22 liters of a 35% alcohol solution.
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